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Noun Declensions

Decl. 2 1 2 3 3
Gender M F N M-F N
Nom. S. G — \Y G —
Gen. S. Y, G Y 0§ (o]q
Dat. S. 1 1 1 1 1
Acc. S. v Y, Y, o/v —
Nom. P. 1 1 a €G 0
Gen. P. wV wV wV wv wVv
Dat. P. 1C 1C 1C o1(v) o1(v)
Acc. P. V] G a ag a

1. Stems ending in alpha a or eta n are in the first declension. Stems ending in omicron o
are in the second declension, and consonantal stems are in the third declension.

2. Every neuter word has the same form in the nominative and accusative.

3. Almost all neuter words end in alpha in the nominative and accusative plural.

In the second declension, the alpha is the changed stem vowel. In the third declension it is the case ending.

4. In the dative singular, the iota subscripts if possible.

Because the iota can only subscript under a vowel (in which case the vowel lengthens), it subscripts only in
the first and second declensions.

5. Vowels often change their length.

Contraction occurs when two vowels meet and form a different vowel or diphthong.

Aoyo +1  =Adyw (dative singular)
Aoyo +o0 =Adyov (genitive singular)
YPaA®N + wv = ypap®dv (genitive plural —

the omega of the genitive
plural will absorb
any preceding vowel)

Compensatory lengthening occurs when a vowel is lengthened to compensate for the loss of
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Compensatory lengthening occurs when a vowel is lengthened to compensate for the loss of
another letter.

Aoyo +vg =Adyog>>Adyoug (accusative plural)

6. In the genitive and dative, the masculine and neuter will always be the same.

7. The seventh rule is "the stops chart".

bial TT B P
s lar K Y X
s ntal T S o
Labial +o=1
Velar +0=¢

Dental +o=0
The vt combination drops out when followed by a sigma (ravrt + ¢ = 1ag).

Whatever happens in the nominative singular third declension also happens in the dative
plural.

O0pK + G = 0dpé.
O0pK + o1 = capél

8. Atau t cannot stand at the end of a word, and will drop off. For example, with *évopar,
no case ending is used in the nominative singular, and the final t drops off.

When no case ending is used in stems ending in —par, the t drops out.
Hence, *évopat + — = dvoua
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